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1. dnkpgn) 3,000 3,000 0
2.2 5~ 3,900 3,900 0
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1. g RkE8H 3,900 3,900 0
2. A BR /K AR} F A 30,728 22,115 8,613
1.9 & 11,013 11,013 0
1.8t g24 ¢4 11,013 11,013 0
I S A=l 11,013 11,013 0
1L.AEF 11,013 11,013 0
2. 1.3 14,480 8,618 5,862
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(AHFA_1F) A K-G0 (55aL)
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9.8 A2 9 4,235 2,484 1,751
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wEEI ) ¢ 160,0009#10% =
37184 uggE 82,024 37,554 44,470
1,07 g% 25,826 14,866 10,960
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1. w78 399 399 0
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1. 079 390 390 0
1. 0520 390 390 0
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1.3 2,778 2,778 0
1. 25 2,778 2,778 0
6.4 Wy 2,300 2,300 0
1. 079 2,300 2,300 0
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2. W% 1,900 1,900 0
7.9% aRLE 1,100 1,100 0
1. 079 1,100 1,100 0
1. 0599 1,100 1,100 0
8.9)=ro] wigs 5,128 2,128 3,000
1. 0799 5,128 2,128 3,000
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